REVIEW: LAW OF SINES, LAW OF COSINES AND AREA OF A TRIANGLE
1. Find the area of each tiiangle.
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Solve each triangle (find all missing sides and angles).
the nearest degree.
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Find all of the missing sides and angles in the triangle.

i KE .. ——
Qc{:j B8 72 = Syt R - ?'CSLP)
_ e - i B SmSA091 _ s B
- 2018 212 54
82 22t - s4*-8L. > SH g SA.19)

72 A= COS - 2(5\)(B2) Swva B ° _______'_].;__.#_,.
; B =5 -l(SL{SDVSC}jq.')

A x ) =gt ® | - g
) A= 59 _f.__# | 2

- 2 | £B= 40.4 oz"—?
£ L S

o

i1l

Zc =10~ (e
Zc= 19, 808"



Find the two £ Bs and the two <. Cs in the two triangies formed in AABC: ZA=27°,a=6andb=9.
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¢ In AABC, LA =786°, £C=37.1° =and a=6.89 feel. Findband c
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. Atriangular garden has sides of 7 feet, 5 feet and 4 feet. Find, to the ne

arest degree, the angle between the
sides measuring 7 feet and 5 feet.
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~ An Elementary School and a High School are 40 miles apart. How far to the nearesif .tith of a mil e };
house fromi the Elementary School? ~ D ove deamed place
Elemen
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